                               1
1,        evaluate    ∫   (3 – e4x )dx
                       0

                                                      4                                                              
2,       evaluate    ∫    (1/1 + 4x)dx
                        3

                                                        0

3,       evaluate     ∫    (5 / 3 – 2x)dx

                         -1

Questions 2 and  3 do not have brackets but my computer skills do not allow me to do it all on one line , hope you understand.
